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MULTIPLY RATIONAL EXPRESSIONS

» Simplify the expression.

1) 274%° '20x2y3
16xy*>  9a’b

4) =2 £ +21-3

t+3 £ —t-2
7) x’y’ .2x2—13x+15
x*—4x-5 xty?

10) 12+ x—6x> 2x*+x-21

6x> +29x+28 4x*—9

2) 15)62)74.28612174
24ab’  35xy*

) 3x-15 20x*-10x
4x*=2x 15x-75

8) x> =3x+2 .x2+x—12
x*—8x+15 8-2x—x*

11) " x"—6 x> -5x"—6

XX =2 X" =2x"-3

6)  2x’+4x 6x’-30x°
8x* —40x 3x” +6x

9) " y2x" ' 8x2—12x

4x* —6x X" —x"

12) - ys
2x% + xy—3y°

.2x2 +5xy+3y°

X Hxy+y°
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13) x'-5x"+4 3x°-10x-8
3’ —4x—4  x*—4

DIVIDE RATIONAL EXPRESSIONS

> Simplify the expression.

15)  6x7y* ;12x3y3
35a%0°  7a'*h’

18)  2x-6 |, 4x’-12x
6x>—15x 18x° —45x°

21)  2x*+13x+20 . 6x* —13x-5

8—10x—3x> ~ 9x>—3x-2

14) (x+1)° 2x-1

16)

19)

22)

1-2x  x+1

124*b"  18a°b°

13x%y? N 26xy’

4x*—4y*  3x"+3xy

6y 2x7y—2xy

X4 x" C4x"+4

2x-2 "

—X

n

17) 8 2t
3 9

20) °—8x+15  15-2x—x’
X’ +2x-35 xX*+9x+14

23) 2x2"—x”—6;2x2" +x"=3

2 * 2
x"=x"=-2 x" -1
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24) 6x° +6x ‘ x*—1 25) X4y . 3x° =3x7y +3xy’
3x4+6x7+3x° 1-x 257 +2x%y 6x> -6y’

ADD OR SUBTRACT RATIONAL EXPRESSIONS

» Simplify the expression.

26) i_l_i 27) B 3 + 8 _ 3 28) r+2 t—-4
2xy xy 2xy 4x*  4x* 4x7 3 6
29) X B 2 30) x+3_2x+1 31) z—1+z+1
x> =3x+2 x*=3x+2 5 10 Z 7’
32) 245 N 2x—5 33) ab'-a'b 34) 4577 —(41)7
4x* 10x
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35) 3 _i_ 9 36) 2x-1 3 3x+4
2x’y  5x  10xy 12x 9x

38) 3a B 5a 39) X o 2
a-2 a+l 2x—-5 5x-2

41) 1 5 42) 1 1

-5t 2 T2

2x-3 2x X —6x+9 x" -9

44) 2 45) X’ 44 13

=1 X +1 4% =36  x+3

37) 3x+2 y-5

4x*y  6xy?
40
) 2 3 10
X x—4

43) 3x’+8x+2 2x-5
x*+2x-8 x+4

46) 3x—4+ 3x+6
4x+1  4x*+9x+2
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47) x+l  x-3 48) x—2 N 3-2x 49) x> 3 4
CHx-12 0 X +Tx+12 4x* +4x-3  6x° +x-2 P2 121 112
500 2x"—2x 2 X 51)  x*-12 1 1
2 N + 4 T3 T2
x —2x—-15 x+3 5-x x —16 x -4 x +4
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